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 3.5 x 104 

  

 

 

  

 1200  

 

2. (a) Write in standard form     0.00079  

 

 7.9 x 10-4 

 

 

 

 

 0.047 
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3. 

 

 

 

 

 

 

 

        

4. x is an irrational number between 7 and 10. Find a value for x. 

 

Answers may vary, Ex.  

 

5. Write an algebraic expression for each of the following 

x multiplied by 2 and then add 3                     

 

 2x + 3 

6. Write an expression for the perimeter of the shape below. 

 m  

  

                              m + 3 

  

 

                                                              4m + 6       (1) 

 

(1) 



Model Answer 
 

3 
 

7.  

 

 

  

        36 

 

 

 

 

      28 

 

 

8.  

            5 mm ÷ 10 = 0.5 cm   

    

  

                            

 

 

 

9.  

 

 

10. Simplify the following: 

(2) 

(2) 
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(a)    

(b)                              

(c)  

 

 

11. a. 

 

 

 

 

  

 

 

 

 

 

 

  

                         

                                                 

                     

                                               

                                               
 

 

b. Find the value of x 

 

 360 – (70 + 60 + 65 + 40)  

   = 360 – 235 

    = 125° 

 

 
 

                                                  X = 125° 

 

(3) 

(1) 

e d 

b a 

b c 
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13. Complete with the right answer: 

a) We can find the sum of the interior angles of any polygon using the rule  

 

 

 

(n − 2) × 180° 

 

b) Workout the sum of interior angles of a polygon with 9 sides 1260    

 

 

25 

(2) 

(2) 

(2) 


